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How Much Money Challenge 2C 

Tyger, Captain and Frazer have 3 dimes, 3 nickels and 3 pennies which 

they share between them.  

 

 

 

 

 

 

Each of them ends up with 3 coins but not the same amount of money. 

Frazer ends up with the most money. 

Captain ends up with a cent less than Frazer. 

Tyger ends up with 13 cents less than Captain. 

Can you work out how much each of them got, and which coins they 

ended up with? 

 

Tyger Captain Frazer 
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How Much Money 

Challenges 2C ANSWERS 

Salamander Coins Amount 

 
Frazer  

21¢ 

 
Captain  

20¢ 

 
Tyger 

 

7¢ 


